
  Montageanleitung Verkleidung Osorno + Osorno S 41/616 + 41/646  
 

                                                                            
 

 
 

 
 

10 

8 

4+5 



2 
 

  I 

H 

G 

 
D 

 
E 

 
 
 

F 
 
 
 
 
 
 

C 
C 

 
 
 
 
 

_/ 
A 

A 
• 

 
B 

40x 

 
 
 
 
 
 
 
 
 
M6x12 

 
 
 

M6x14 
6x 

/ / 



3  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

40x 
M6x12 

 

 

4 

A - F ca
. 5

m
m

 



4 
 

8 

 

2x 

90° 



5  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

A 
 
 
 

2x 90° 

B 6x 
5 

A 

  



6 
 

 
 
 
 
 
 
 
 
 

10 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

C 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

C 



7  

D E 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

F 



 

 
 
 
 
 

                                                                  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



9 

 

                                                        
      
 
 
 
 
 
 
 
 

 
Olsberg GmbH 

 
Hüttenstraße 38 
59939 Olsberg 
T +49 2962 805-0 
F +49 2962 805-180 
info@olsberg.com 

 
olsberg.com 4)

 7
8/

46
41

.6
16

2 
  0

9/
20

18
 

mailto:info@olsberg.com

	D
	A
	B
	M6x12
	M6x12

	C
	Olsberg GmbH
	olsberg.com


